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[1] x %+ 5x 2] ¢+ ab
= x(x+J5) = a(a +b)
(3] 5a —5b ' [4] 6ab — 3a
= 5(a —b) = 3a(2b —1)
(5] 2ax + 8bx [6] x %y + x>
= 2x(a +4b) = xy(x ty)
(7] a’c*—abe? (8] 3x°y +9x%y°
= acz(az—b) = 3x2y(x +3y)
[9] 2x°yz —5x%y? (10] 8ab +24a°b*
= xzy(sz —5y) = 8ab(l +3ab)
[11] ab +ac —ad [12] xzyz—xyz—xy
= a(b +c—d) — oty —y — 1)
(131 3¢°b%c +12a°bc —a’b* (14 54°b%c —10a’ be + 15b
= a2b2(3ac +12¢ —1) = 5b(a’bc —2a’c +3)
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[1] ab + 3ac [2] x4 xpz

= a(b+3c) = x(x+yz)

(31 2x — 4y [4] 8abc — 3ac

= 2(x —2y) = ac(8b —3)

(5] Sax —|—10bx (6] x3yz —f—xyz

= 5x(a +2b) = xy(xzz-l—y)

(7 abe> —ac?

= ac3(b —c)

8] 10xy +20x %y
= ]0x2y(x+2)

[9] 2abc +4acd
= 2ac(b +2d)

[11] 2ab +4bc —8b
= 2b(a +2¢c —4)

(131 3¢°b°c —9a’ b’d +6a°b*
= 3a°b 2(alc —3d +2)

[10] 4x*yz —9xy?
= xsy(4xz —9y)

[12] X 2y 2_xy 2Z _xy 2

= xyz(x —z—1)

[14] ¢°bc —8a’b*c +16b°
= bz(asc —8a’c +16)
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(1 a4+ 3a (2] m >+ mn
= a(a+3) = m(m+n)
(3] 5a — 10b 5 ' [4] 8xyz — 24xz
= 5(a —2b) = 8xz(y —3)
(5] 12ax + 8bx 6] 7m*n*—+5m°n
= 4x(3a +2b) = m°n(7n+5)
(7] 2a°c*—3bc 8] 7x°y >+ 14x%y?
= c(2a ¢ —3b) = 7x2y2(xy +2)
(9] 70x y + 15xy (10) 9q*m +27a’m*
= 5xy(2x2—|—3) = 9a’m(1 +3m)

[11] xyz +axy —bxy

= xy(z +a —b)
(131 3¢*b%c +a’ b’c —2a°b* (141 3%y %z — 9x” yz + 6xy
= a’b*(3ac +c —2) = 3xp(x’yz —3xz +2)
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